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T (3397 :
HETITRET 591 %1 95 Graei] & 9ieq 3K 371 G&d] & Gt T :

(1)

(it)

§729)

(iv)

(v)

(vi)

(vii)

(viii)

3G Jo7-97 H T 39 97 & | YT F97 341 & |
I8 Y97-UF Giel @US] H @15/ [T T 8- &, &, T, TG F |
GUE & - J97 &I 18 20 TF Tglascd JHFR & Fo7 & | F&H T
137 FT3/
QU & - J97 &I 21 @ 26 a% 37T TY-ITHIT FFR & J97 & | I9%
Y97 2 3l HT & | 37 941 @& I 30 G 50 Fsc] § 13T 517 =1fzw |
GUg T - F¥7 &I 27 & 33 dF G-3RI JBR & JoT 3 | IAF T
3 3H FT 8 | 37 991 & I 50 T 80 V53T H 130 5 Tz |
GUT T - Y97 T&IT 34 T 36 T H-FHIT PR & 97 & | I9H Fo
5 371 BT & | 37 J991 & I 80 & 120 Fegl 7-13¢ 77 FfzT /
GUE & - Y97 &7 37 @ 39 % 3 GId-STEIR/THI-3TENRA FHSTT &
TeIIhd & 4 37H & 97 (39-F971 qlaed) 8 |
97-99 § THI faHeq 781 1597 T 6. TE, F& GUSl § STaR® ladheq
7w 70 & | 3G YHR & T 7 @FdcT. U &7 f[dheq &7 I I /

WUE &

5T GUE 7 20 TgIaHehd T (T F. 1- 20) & | U IT7 AT & | 20x1=20

1. = @ =i taRie FHw S ddfd i % U x 3R y o 0
ShHRI: Eﬁ :
3Fe + x HOO —— Fe304 + y Ho
(a) 2,2 (b) 4,2
() 2,4 d) 4,4
2. R U T HH-T TS 9U & IAT fae=E w1 pH @@ W AF
g ?
(a) NH,CI (b) NaCl
(c) NayCOsg (d) NaNOsj
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General Instructions :
Read the following instructions very carefully and strictly follow them :

(1)
(it)

(iii)

(iv)

(v)

(vi)

(vii)

This question paper comprises 39 questions. All questions are
compulsory.

This question paper is divided into five sections — A, B, C, D and E.
Section A — Questions No. 1 to 20 are Multiple Choice Questions.
Each question carries 1 mark.

Section B — Questions No. 21 to 26 are Very Short Answer type
questions. Each question carries 2 marks. Answer to these questions
should be in the range of 30 to 50 words.

Section C - Questions No. 27 to 33 are Short Answer type
questions. Each question carries 3 marks. Answerto these questions
should in the range of 50 to 80 words.

Section D - Questions No. 34 to 36 are Long Answer type
questions. Each question carries 5§ marks. Answer to these questions
should be in the range of 80 to 120 words.

Section E — Questions No. 37 to 39 are of 3 Source-based/Case-
based units of assessment carrying 4 marks each with sub-parts.

(viit) There is no overall choice. However, an internal choice has been

provided in some sectgons. Only one of the alternatives has to be

attempted in such questions.

SECTION A
This section has 26 Multiple Choice Questions (Q.No. 1 — 20). All
questions are compulsory. 20x1=20
1. In order to balance the following chemical equation, the values

of x and y respectively are :

3Fe + x HZO —_—> Fe304 +y H2

(a) 2,2 (b) 4,2
(¢c) 2,4 d) 4,4
2. The aqueous solution of which one of the following salts will
have pH more than seven ?
(a) NH4CI (b) NacCl
(c) NayCOg (d) NaNOg
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-TggISeh 3Te-g $HH 9 1A §
(a) C6H6 (b) CZH4
(c) CgHy (d) CH3CHO

fafafgd stiedEe/sieare § @ SH-9/8 - o= & fdu Sd |
RPRENIC RS

(@) (i) 3 (iv) (b) o (iii)
(¢) (1), (ii) 3R (iv) (d) =Had (iv)

gIggiioTeh 3Tl ¥ 3Heh! AT A T HIe SE3aAES T g7
freperdt 2

(a) T TR (b) = 1 A

(c) kT EIeT (d) e

3T o TeaTohtur hl UTshaT H, 3R W WA 96H o (o1 Y 91q

(a) TugmRH (b) Nem
() @
: A9 .
a8 HIH-A Fre Ak @ fwH —C yprEicaeh Tg BT @ 2
H
(a) U (b) TH
(c) ST @
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3. Triple covalent bond is found in :

(a) CgHg (b) CoHy
(c) CgHy (d) CH3CHO
4.  Which of the following oxide(s) is/are soluble in water to form
alkali/alkalies ?
(1)  SOg
(ii)) NayO
(ii1)) NOg
(iv) Ko0
(a) (ii) and (iv) (b)  Only (iii)
() (@), ({1) and (Gv) (d)  Only (v)

5. Carbon dioxide gas is not produced when hydrochloric acid
reacts with :

(a) Limestone (b) Lime water
(c) Baking Soda (d) Marble

6. In the process of galvanisation of iron, the metal used for the
coating over iron is :

(a) Aluminium (b) Gallium
(¢) Zinc (d) Lead
/O
7.  The carbon compound having — C functional group is :
~H
(a) Propanal (b) Propanone
(c) Propyne (d) Propanol
31(B) Page 5 of 27 P.T.0.

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

EE

JTTATI o TAIeh AT hl EEGIFeh T & g FL&aT LT 8 :

8.
(a) T« (b)  veTSHT
(c) UfEm (d) W
9. TmffEa % @ 98 %= T
(a) Tofcdm UMt o1 9T SHEar B, STafsh AITgUS ShITgrggel 1 qred
LT 2 |
(b) TefoEm wreTaEgel 1 U=F HaT 8, SI™fh agus TIHT &1 I
T 2 |
(c) TefEM SHeHIhA IS I U hLdT g, STel o -cIgus Tl
I T B
(d) TEfEH TIEHT T 9T hLdT 8 STelloh, AISYs SHCHIhd JET
TR LT R |
10. s feherdt B -
(a) YHETSS 4 (b) W= H
(c) EEIIYHE § (d) wgenH
11. SHA A Bl T ;
(a) TEHS Ui - U
(b) oUrEE U - AR
(c) dRw Uty - ggfed
(d) TERH - TEISH
12. f=ffgd & & 39 W1 ol gHT S Al J=wor g 77 81 3
(a) TN (b) dufesh/a™ T
(c) HIV-AIDS (d) FwlcE
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The inner lining of stomach is protected from hydrochloric acid
by :

(a) Bile (b) Mucus
(c) Pepsin (d) Saliva

Select the correct statement from the following :

(a) Trypsin digests proteins, whereas lipase digests
carbohydrates.

(b) Trypsin digests carbohydrates, whereas lipase digests
proteins.

(c) Trypsin digests emulsified fats, whereas lipase digests
proteins.

(d) Trypsin digests proteins, whereas lipase digests
emulsified fats.

Spinal cord originates from :
(a) Cerebellum (b) Pons
(c) Hypothalamgs (d) Medulla

Select the mismatched pair :

(a) Adrenal gland —  Adrenaline
(b) Thyroid gland —  Thyroxin
(c) Pituitary gland —  Insulin

(d) Ovary —  Estrogen

Select from the following, a disease which is not transmitted
sexually :

(a) Gonorrhoea (b) Tuberculosis
(¢) HIV-AIDS (d) Syphilis
Page 7 of 27 P.T.0.
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faveT= =l 39 YRR g i g fomam S Tehat B

(a) Toram T Sl
ICK|

(b) Toram T SR X 3TEE
(c) Toram T S x ™Y x T

(d) foram T R X 3TEw
a9

12 W 3R 6 W &I LED scd ol § §ifod & | Ifc.6 W & oo 9
0-005 A st g/ JaTiEd &1 @i &, d 12 W & JaTfgad 4917 7

(a) 0-:005A (b) 0-01A
(¢c) 0-0025 A (d) ."0-02A

JT=RISE U (W) Hehd Ugld (FIg) o IFER, T forga amfemi =i
EFIEhUT Shi SRR BIH &, 3k AT oh STTE0N % T BId 3 :

(a) ToRIHI-U, SEEA--Ie FAT EIRUI-ShIAT

(b) TIgTE- U SEEAATAT T EFIhuI-EU

(c) TIgHI-ATE, -8 qAT YHFIhUI-te

d) Togma-ame, IeEH-g0 a9 JErIhvI-hIel

forgd wifts Sl & U6y TAMl do Wfth TR0 FAAh I dleedl hH
T 9T (AC) o ®9 U fohu 4 61 shior 48 2 ok

(a) A dleedl W [Igd %0 Gah aidl g |

(b) To=a =1 IcUTEH (IH) 3= dleeal W BT @ |

(c) 3= dicedl W H=rol did gl R |

(d) I dlecdl W IO & GHY Sl 1 BTE HH BT & |
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Potential difference can also be represented as :

(a) Work done
Charge

(b) Work done x Charge
(c) Work done x Charge x Time

(d) Work done x Charge
Time

Two LED bulbs of 12 W and 6 W are connected in series. If the
current flowing through 6 W bulbs is 0-005 A, the current that
flows through 12 W bulb is :

(a) 0:005A (b) 0-0LA
(¢c) 0-0025 A (d) .0-02A

According to the International. colour coding, wires used in
electrical appliances wliich require earthing are :

(a) Live is browngNeutral is blue and Earth is black
(b) Live is brgwn; Neutral is blue and Earth is green
(c) Live is red; Neutral is green and Earth is blue

(d) Live is red; Neutral is green and Earth is black

From a power station, the power is transmitted to distant
places in the form of AC at a very high voltage because :

(a) electricity is less dangerous at high voltages.
(b) electricity is generated at high voltage.
(c) transmission is faster at high voltage.

(d) at high voltage, the loss of energy during transmission is
less.
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Uv7 QAT 17 @ 20 & 70, 31 w97 130 70 § — 577 ves &1 3f9esa7 (A)

7T TR &1 FIOT (R) FIRT 31Tk a1 727 § | 37 F971 & @gi 3% 414 130

T Figl (a), (b), (c) R (d) § T gaHv e |

(a) AR (A) 3N HR (R) ST F&l & 3N HR0 (R), AHhpeA
(A) <hl T ST HLAT 7 |

(b) fpeE (A) R FwO (R) g1 #& B, W SR (R),
AR (A) hl & AT TgT Hdl g |

(c) IAHA (A) W&l B, T SN (R) T 2 |
(d) 3TfEReE (A) Teld 8, T R (R) T8 R |

17.

18.

19.

20.

31(B)

S7IHIT (A) :

PR (R) :

STHFHIT (A) :

PR (R) :

S7IFHIT (A) :

PR (R) :

S71IFHIT (A) :

PR (R) :

VTS &1 IWAN U6 €Y H SFA 3N A &+l
HIed 3R dfcen ¥ foman STar 2 |
U Th ITJH Tgeihled 7 &k @ hied
TEETULRAT o St -7 BT B |

HATeRIEEHIRERT ufsratl % fou oo s ()
ATRR |

TSR~ S gfsken H SAfufsRaeti
TR ok fT ATP &1 39T BidT & |

ST SYf THeh Teh 814 ol IcUTEH hid 3 |
ST AHE IR § FRR 3ehT o W H gig T g |

STa fopet Heft grETEt afeTietshl Sl FEaAATdeh
frefad foram STan 8, @1 a8 Wimiferes Soe-efeqor fesm d
oo <h1 Stawen § 31 Wl B |

gedt faemer grereh 1 Wild S¥a8R il 7 e
IA-ga HiTeTeh S0 hi 3R AT & Sidfeh amraTal
GIATCTehT B Faeh hl WITd SAAGR hid! B |
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For Questions number 17 to 20, two statements are given — one
labelled as Assertion (A) and the other labelled as Reason (R).
Select the correct answer to these questions from the codes (a),
(b), (c) and (d) as given below.

(a) Both Assertion (A) and Reason (R) are true, and Reason
(R) is the correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason
(R) is not the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.

17. Assertion (A): Ethyne is widely used for cutting and welding
iron and steel.

Reason (R) : Ethyne is an wunsaturated hydrocarbon
involving carbon-to-carbon triple bond.

18. Assertion (A): ATP is the energy currency for most of the
cellul&® processes.
Reason (R) : Endothermic processes in the cell use ATP to
garry out reactions.

19. Assertion (A): Pancreas produces a hormone called insulin.

Reason (R) : ~ Insulin increases the blood sugar level in the
human body.

20. Assertion (A): A current carrying straight solenoid, when
suspended freely rests in geographical
north-south direction.

Reason (R) : Earth behaves as a huge magnet which has
the north pole towards the geographical south,
whereas the current carrying solenoid behaves
like a bar magnet.

31(B) Page 11 of 27 P.T.0.

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

EE
=

Qs @

21. UH YA AUHAT Sl Teh 3801 ifoe foreH

(F) () I 1feek dfha O1q 19 | FH Tl UTg B TS TG0
& ST faoe 9 foenfud el & iR faoma =1 @
yiafdd g Smar 8 |

(ii) RIS ITfIT 31T &dT 2 |

HAYAT

(@) & fopelt e 1 e I BTE Tothe oh-fderad | o S &,
a1 faeT= =1 ikl 50 1 Q4 & J1dl & |

() 3T ST <hl e il |
(i) B Il STMIERAT <Rl TETeh TR faRau |

22, TG IR H GUOUEH(h, T&A HI AW fAfgu qom (i) FEiEEsd,
(ii) =TT, 3R ({ii) WEHT & 3T\ Icrel o M faAfgu |

23. UEHl H ghg I FGMET o T Ueh UIGY BIEH 1 AW IRGY | SARe
HIT foh IE BHH fohd TR Teh T hi fohell TER o =W IR Jhg

L | TRl LT 2 |

24, “ITATE I T THA BT B 17 IS IS G 39 HAH h g
T |
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SECTION B

Give one example each of the reaction in which :

(a) (1) a more reactive metal displaces a less reactive metal
from its aqueous salt solution and the colour of the

solution changes.

(i1) an insoluble precipitate is formed. 2
OR
(b) When a zinc plate is dipped in ferrous-sulphate solution
for some time, it is observed that the pale green colour of
the solution disappears.
(i) Explain the observation:
(ii) Write the cliemical equation for the reaction taking
place. 2
Name the site of complete digestion in the human body and
write the name of the end products formed of
(i) carbohydrates, (ii) fats, and (iii) proteins. 2
Give an example of a plant hormone that promotes growth.
Explain how this hormone promotes the growth of tendril
around a support. 2
“Pancreas has dual nature.” Justify this statement with an
example. 2
Page 13 of 27 P.T.0.
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25. (%) g DA faqH FHl TR § Tech a1 I TI Tg <@ ITal
8 | 38 g qN s AW foifly | 39 gfeqiy = Q1 *ron R
Tl S1ST | 39 TIY o TG o ToTC il oh JehR i ST |

AYAT

(@) #I3 =k gEFT 49 % [C T g¥F sl Aad gl Wl
FEGAT ! T T8I @ U 8 T 98 I 3 § 40 cm Gl W
THTER-0 ohl W@ 38 MM ¥ 9¢ ol 8 | 36 TR0l H
g o1 A IRIT | 36k &1 RN h G ST | I5h

a9 o TTC Tl o YRR 1 A0 ST |

26. T INF-IUEA Ul o TW faRaw | A= G T ER Hqwen H
BT 3Tota-ffieRteft At 6 waifaes amE el (IhEi) o N
o grft Rt | R ?

F[ue T

27. = (1) W (11)H B et RIS & Y W fo=m i
i (B4 —— (B0
(i) %Jr

() (1) AW (ii) T i T et JAfha1eT & Yl i yg=™
1T |

(@) Y% ThR hl ATUTHAT h1 Teh-Ush ITE0T IT6E-THIHIUT 3TerdT
Tk THRT o ®Y § EoY |
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25. (a) A student cannot see distinctly the charts hanging in the
science laboratory. Name the defect of vision he/she is
suffering from. List two causes of this defect. Suggest the
type of lenses for the modification of this defect. 2

OR

(b) A person cannot see distinctly the objects placed at the
least distance of distinct vision for a normal eye.
However, he can easily read a newspaper by placing it at
a distance of 40 cm from his eyes. Name the defect of
vision in this case. List its two causes. Suggest the type
of lenses for his spectacles. 2

26. Name two non-biodegradable substances. In the following food
chain, maximum concentration of harmful non-biodegradable
chemicals was found in the bodies of hawks. Why ?

Grass — Rabbits ““= ‘Snakes —» Hawks 2
SECTION C

27. Consider the types of reaction mentioned below in (i) and (i1) :

i (AR +/(CB) —> ABO),D
(i) %Jr

(a) Identify the types of reactions mentioned in the chemical
equations (i) and (ii).

(b) Give one example for each type of reaction in the form of

word equation or chemical equation. 3
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28. 3ATeh UE dIH qCEHEl H fIF TEH oo, S8 g dew]ish 37+,
gifean gEgleaEs &1 91g facay aun difeam dethe o1 @1g foerH

2 | 31k 9 pH v i ufgat off 2 |

(%) pH 9= shi Gfgal o1 SUTANT ek 379 34 i1 gai shl Tga el
TR AT ?
(@) 3™ ° &H-4 < g 3d 7 4 e 9w 3gEE deun

o N
[IAIH ST ?

(W) (@) ¥ e e gl gat o = ge areht Afifshan o T
g fAfgu |

29. (%) YWl U YhW-EYANU hH UhkAn HiIEY § B awelt o
T3 hi T FET |

AYAT

(@) <t fopd BET & 2 Gued U il 3R BfeR s r | R
3T & 2 FHTeh] o &l I <hl FAT ST |

30. hIg HIHST hl-SAICH [hEH! ITA T o ThITh Hg § 18 cm hl gl
W@l 2 | (G389 SaTa S fIore o8 o gadl 3T T % Yol
%ﬁ SGCm@Wf@HWﬁWW%,?ﬁ:ﬂ%ﬁQWW%
Wﬁﬁ?:

(%) o AT WdfeEs 1 STadT R 3 ?

(@) <\ 6l BihE gl 1 3 ? 30 Fuifia e & fou ‘<a 33 &=
3TN HIfu |
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You have three test tubes containing three colourless liquids,
say conc. sulphuric acid, conc. solution of sodium hydroxide
and conc. solution of sodium sulphate. You also have strips of

pH paper.

(a) How would identify these three liquids using pH paper
strips ?

(b) Which two liquids, when mixed together in proper

quantities can form a neutral salt solution ?

(c) Write the chemical equation for the reaction that will

occur between the two liquids mixed in (b). 3
(a) List three events that occur during the process of
photosynthesis in plants. 3
OR
(b) What is lsmph-? How is lymph different from blood
plasma‘n composition ? List two functions of lymph. 3
A candle flame is placed at a distance of 18 cm from the optical
centre of a convex lens. If its image is formed on a screen
placed at a distance of 36 cm from the lens, answer the
following questions :
(a) What is the magnification of the image formed ?
(b) What is the focal length of the lens ? Use the “Lens
Formula” to determine it. 3
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Define the following terms in the context of spherical
mirrors :

(i) Pole

(i1) Centre of curvature
(iii) Principal axis

(iv) Principal focus

An object is placed at a distance of 60 cm from the pole of
a concave mirror. If its real and inverted image is formed
on a screen placed at a distance of 60 cm infront of the
mirror, what is the focal length of the mirror ? Give
justification for your answer.

State Ohm’s law. List two factors on which the resistance
of a cylindrical conductor ‘at. a given temperature
depends. A wire was drawn into a wire of double its
length by melting it. If the resistance of the old wire was
R, what is the resistance of the new wire ?

OR

(1) Writerthe formula for finding the value of the
equivalent resistance of three resistors of resistance
R1, Ry and R3, when the resistors are connected in
(i) series, and (ii) parallel.

(i1) List two advantages of connecting electrical devices
in parallel with the source of electricity instead of
connecting them in series.

Define ecosystem. List two artificial (man-made) ecosystems.
Natural ecosystems like forests and lakes do not require
regular cleaning, whereas the artificial ecosystems start giving
foul smell if not cleaned regularly. Why ?

3
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SECTION D

34. (a) Write the molecular formula of methane and ethane,
stating the general formula of the homologous series to
which these compounds belong. What is the difference in
the molecular mass in between the two successive
members of a homologous series ?

(b) Write the name and molecular formula of an alcohol
having two carbon atoms in its molecule. Write balanced
chemical equation to indicate what happens when this
compound is heated at 443 K with excess conc. HoSOy.
Name the main product formed in the reaction stating
the function of conc. HySO4 in the reaction. 5

OR

(a) How do the following conversions take place ? Write
chemical equation for each :
(i) Ethanol to Ethanoic acid
(i1) Ethene to Ethane

(b) Give one example each with chemical equation for the
following reag¢tions:
(1) Comkustion reaction
(i1) Substitution reaction
(ii1) Saponification reaction 5

35. (a) What is regeneration ? Which types of cells are used by
such multicellular organisms to regenerate ? Name the
organism which exhibits this process.

(b) State one function of each of the following parts of the
human male reproductive system :

(1) Vas deferens

(11) Testes

(iii) Prostate glands 5
OR
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(a) What is meant by pollination ? Name and differentiate
between the two types of pollination.

(b) What happens to the pollen which falls on a suitable
stigma ?

(c) Mention the post-fertilisation changes that occur in
(1) Ovary and (ii) Ovule in the flower. 5

36. (a) What is a solenoid ? When a current is passed through a
long, hollow and straight solenoid, a magnetic field is
produced. Where is the strength of the magnetic field
produced maximum and what is the pattern of the
magnetic field at this place ?

(b) State Fleming’s Left Hand Rule. Apply this rule to solve
the following problem :
A straight conductor is placed in east-west direction in a
uniform magnetic field. If on-passing current from east to
west, the conductor moves. towards north, what is the
direction of magnétic field ? 5

SECTION E

Q.No. 37 to 39xure -Source-based/Case-based questions with
3 sub-parts. Internal choice is provided in one of these sub-parts.

37. When a rayof light moving in a medium enters obliquely in
another medium, it bends from its path. This phenomenon is
called refraction of light. The ability of a medium to refract
light is expressed in terms of optical density. The term optical
density is not the same as mass density. If we compare two
optical media, the one with the larger absolute refractive index
is an optically denser medium than the other. Also, the speed
of light through a given medium is inversely proportional to its
optical density.
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(a) Define the term ‘absolute refractive’ index of a medium. 1

(b) Refractive indices of glass, water and carbon disulphide
are 1-50, 1-33 and 1-62 respectively. In which one of these
media is the speed of light (i) highest, and (ii) lowest ? 1

(c) (1) The absolute refractive indices of glass and water
are 3/2 and 4/3 respectively. If the speed of light in
water is 2-25x108 m/s, find the speed of light in (I)
vacuum, and (II) glass. 2

OR

(i1) The absolute refractive indices of glass and water
are 3/2 and 4/3 respectively. Find the refractive
index of water with respect to glass. 2

The melting points and the boiling points of ionic compounds
are comparatively much higher. than that of the covalent
compounds. The ioni¢céompounds are so called because they
are formed by thertransfer-of electrons from a metal to a
non-metal. In the ionic .compounds, the transfer of electrons
from one element to the other is controlled by their electronic
configurations. It is because every element tends to attain a
completely filled valence shell of its nearest noble gas or a
stable octet.

(a) The atomic number of sodium is 11. Write its electronic
configuration and state the number of electrons it can
lose to have a stable octet. 1

(b) The atomic number of chlorine is 17. Write its electronic
configuration. Name the nearest noble gas whose octet
chlorine will attain after gaining one electron. 1
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(i) Show the formation of MgO by the transfer of
electrons. The atomic numbers of magnesium and
oxygen are 12 and 8 respectively.

OR

(i1) Write the symbols and names of the anion and the
cation present in the aqueous solution of the

following compounds :
(D Sodium chloride
(IT) Potassium nitrate

Besides heart, the human circulatory system' consists of a
network of closed branching blood vessels and the blood that
circulates continuously in all parts of the human body. The
human heart is a muscular organ which'is as big as our fist. It
has four chambers — two upper chambers called atria and two
lower chambers called ventricles. The right side of the human
heart is separated from the-left side by a dividing wall, which
is known as septum;

(a)

(b)
(c)

Name thecsimallest blood vessel and state its role in the
circulation of blood.

Write the importance of platelets in the human blood.

(1)  Write in tabular form, two differences between an
artery and a vein.

OR

(i1) Why is blood circulation in the human heart called
double circulation ? Explain.
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